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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the question paper.

2 Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the answer-book
given to you.

4 All the questions including objective type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the answer-book or writing roll number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your question paper code No. 42/OS/1-A on the answer-book.

(@) The question paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided
in the answer-book.

(b) Ifyouchooseto write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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MATHEMATICS

(morer)
@211)
Time : 3 Hours] [Maximum Marks : 100
o 3 gue] [quie : 100
Note : (1) Question Number (1-16) are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices are
given, of which only one is correct. You have to select the correct
alternative and indicate it in the answerbook by writing (A), (B), (C)
or (D) as the case may be.
(2) Question Numbers (17-26) carry 3 marks each.
3) Question Numbers (27-34) carry 5 marks each.
(4) Question Numbers 35 and 36 are of 7 marks each.
(5) All questions are compulsory.
o ¢ () usT " (1-16) I% Sgiawedl ¥sT (Multiple Choice Questions, & | 3H
U UA® U9T TH 3k B ¥ | B UIT % IR Jdiedn oo 6F T ¥, T
Y Had UH G T | ARl e fqed gEAn ¥ &R (A), (B), (C) ¥En
D) s ff TAX ®, I§ IAC-YRaw § fea wem o
2) weT e (17-26) § ¥ udw 3 Skl &1 T |
(3) UeT e (27-34) ¥ ¥ UAF 5 B H T |
(4) ¥ & 35 qAT 36 e 7 3w w T |
() @ U e ¥ |
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1 The value of (SBJ 2 is : 1
25

(5£j 2 @ oAE ¥
25
A 144 125
) 25 ®) 1728
c 125 1728
© 144 ®) 125
2 Square root of 0.09 is : 1
0.09 @1 T ¥ :
(A) 03 (B) .03
(C) .003 D) .81
3 Which of the following is not an AP ? 1
frafafed o @ @9 @Al 98 T8 § 2
(A) 3,6,9,12,....... B) 21, 17, 13, 9,.......
C) 2,5,8, 11,....... (D) 13, 15, 18, 22,.......
4 If the roots of a quadratic equation are 2 and -3, then the quadratic equation as : 1

gfy forel Taomg wfieRor & 4@ 2 Td -3 ¥, o feaa @dew ¥
(A x2+x+6=0 B) x2-x-6=0

©) x2+x-6=0 D x2-x+6=0
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5 Monthly expenses of a student increases from Rs. 350 to Rs. 500. The ratio of
the increased expenses to the increase in expenses is :
forel femmell @1 A @9 350 30T ¥ FBHL 500 BUY B W & | 96 Y @Y
w Ed H ghe ¥ AguE § ¢
(A) 7:10 B) 3:7
(C) 10:3 D) 3:10

6 A customer purchases a radio set for Rs. 4,500 after getting 10% discount on its
limit price. List price of the radio set (in rupees) is :
UH URE TRl A ¥ W/, g T W 10% T UK B FH U
4,500 0 ¥ wliear ¥ | WA < @ g@ @ (uat H) T o
(A) Rs. 4,050 (B) Rs. 4,800
(C) Rs. 4,950 (D) Rs. 5,000

7 350 m is what percent of a kilometer ?

350 WX wH fohadrex & fohad wiaed & SUEX § 7

(A) 70 B) 35
(C) 35 D) 0.35

8 A man wants to open a saving bank account in a bank in the month of January.
He will get the interest on his deposits for the month of January if he opens his account :
(A) On January 1 only
(B) Before January 10 only
(C) On any working day up to January 10
(D) On any working day in the month of January
UF AR Al 7E ¥ R S § o g9d SO @iar gaam dEdl & | 396
BRI S bl TTE TR W I S W dl oA qdt e gfe @' steen @
A T
(A) Had 1 SHId B
(B) ®ad I WA ¥ UEA
(C) <@ adl a&% fedl W & fgw w

(D) S a 9E & fpdl H & f@w w

1
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9 Which of the following statements is true for a cyclic quadrilateral ? 1
(A) One of the opposite angles is always obtuse
(B) One of the opposite angles is always acute
(C) Opposite angles are complementary

(D) Opposite angles are supplementary
frafafag o ¥ @@ w9 I ogys & fag = & ?

(A) @ HU ¥ TH B FAM AYE BT BT B
(B) THE ®HON H Th HO AN JA HOT BA ¢
(C) @@ & & Bd &
(D) W@ Y TYIH B &

10 If AB, CD and EF are parallel lines as shown in the figure given below, then the 1

value of x is :

afs AB, CD wd EF §9dx Y@ § san f6 fr omepfa & zemen mn &, @ x

B A ®

. S
A )
C- /€6 -

L
(A) 15° (B) 45°
(C) 60° (D) 105°
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12

13

The diameter of the base of a right circular cylinder is 7 and its height is equal to 1

the radius of its base. Volume of the cylinder is :

Th @ g d@T & SN Bl A s T SN FHA IO oMY B B &

I T | I g9 B AFAT T

nr3
A& —= B) nr
43
©C) 3ms (D) Eﬂ:r
Base of a parallelogram is 15 cm and altitude is 8 cm. Area of parallelogram is : 1
(A) 60 cm? B) 110 cm?
(C) 120 cm? (D) 180 cm?

T TGS & MR 15 W ok siver 8 Wl ¥ | vE Wi ugde

HT AABA §
(A) 60 = FW B) 110 = Iq
(C) 120 =t I (D) 180 = I

3 >, 1Y)
If 3x=sin4 and ;=CosA, then the value of 3| X*+— | is :

x2

1
gfe 3x=sind afx zzcosA, @ 3(x2+—2j w A T :
x x

A) 3 B) 1
1 1
© 3 @ 3
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14 The value of sec23°-cosec67°—tan 23°.cot67° is : 1

sec23°-cosec67°—tan 23°-cot67° & M ¥ :

A) -1 ®B) 0
<€) 1 D) 2

15 A die is thrown once. Probability of getting a number greater than or equal to 4 is : 1

Teh U1 Ueh X bl ST & | 4 § S=1 A7 4 & IUET G&AT 9T B @l YTiRiehd1
T

(A) 0 B 3
C : 1
© 5 ©)
16 In a grouped frequency table the difference between the upper limit and lower limit 1

of a class is called :
(A) class size

(B) class mark

(C) class frequency

(D) cummulative frequency
TH Fpd araiRar el ¥ Rl ot B Tud @ ud Fraet @ e e
HEAT &

(A) T =T

B) <t frE

(C) =t Eia

(D) Tl IRERAn
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17 Express 3.12 in the form where p and ¢ are integers. 3

3.§ﬁ§%wﬁmﬁﬁqaﬁpamqwﬁ%5%l

18  Simplify the following : 3
aJ45 — 7320 + 245 - 34125
15k B S E G 1 L

aJ45 — 7320 + 245 - 34125

19  Simplify the following into the lowest form : 3

x2—4 o x+2
x2-3x+2 x3-1

frafafaa @ a9 &7 A W@ wY

x2—4 o x+2
x2-3x+2 x3-1

20 In an AP, the first term is 8, n® term is 33 and the sum of first » terms is 164. 3

Find » and d, the common difference.
Teh IHIGY 931 &1 Y&H U 8, #dl US 33 9T YU » UGl &l AN 164 & | n
qq 4 (@E X)) T iy |

21 Find the single discount equivalent to the discount series of 20%, 15% and 10%. 3

20%, 15% T 10% & S5 991 & @ged U 9 &1 A9 o Hig |
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22 Find the sum of money which will amount to Rs. 27,783 in 3 years at 5% per 3

annum, the interest being compounded annually.
5% A =mel @ X ¥ Uk W1 3 99 ¥ 27,783 B ¥ Wl &, W&lh &AW
EIREICE I RIS L B A (M I e 1 L

23 ABC is a triangle in which DE | BC as shown in the figure given below. If AD=x, 3
DB=x-2, AE=x+2 and EC =x-1. Find the value of x.

ABC us e & e pE || BC s o fr sl o qon mn ¥ 1 afy AD=x,

DB=x-2, AE=x+2 @@ EC=x-1, @ x & A9 30 ®iNg |

24 Point P divides the line segment joining the points 4(-1,3) and B(9,8) such that 3

AP find th dinates of P
457 fn the coordinates of P.

fag P, fagatl 4(-1,3) wd B(9,8) & fem I T@ms & 3@ WaR fqwiaa

AP 3

W%%E=7,P%ﬁ€sﬁ$§mvﬁﬁ1{|
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25 If 7sin? A+3cos? A=4, show that tanA=ﬁ, where A is an acute angle. 3
1 ©
A 7sin2 A+3cos? A=4, T FWEY & tanA=$, TE A TH FT B 7

26 In the figure given below, find the perimeter of shaded region where ADC, AEB 3
and BFC are semicircles on diameters AC, AB and BC respectively. Given that
AB =28 cm and BC = 1.4 cm.
=1 ergfar ® =fe ADC, AEB @ BFC =@ AC, AB 991 BC WX %9l &9 $18gd

T, d [@ifhd WFT &1 9heA™ S wie | T genm ® fF 4B = 2.8 & @
BC = 1.4 ¥4 |

27  Solve the following system of linear equations graphically : 5
frfafaa Waw e Fam & sodm fqfv @ @ oy
x+3y=6
2x-3y=12
OR / &
For visually impaired learners only

(G gfe foaim FrenfiE ¥ o)

Solve the following system of linear equations : 5

frafafaa e wiw Fem @ g@ @ISy
(a—b)x+(a+b)y:az—2ab+b2

(a+b)(x+y):az+b2
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28 Find two consecutive odd positive integers whose squares have sum 290. 5

T TGS [ qUite S i e T @ Aea 290 ¥

29 A sum of money becomes Rs. 2,000 in 2 years and Rs. 2,250 in 4 years at the 5

same rate of simple interest. Find the sum of money.

Th o AHT TR &I W 2 99 ¥ 2,000 & 997 IW W W 4 99 H
2,250 %, B W@l ¥ | o9 WO T s |

30 Construct a triangle ABC in which AB = 6 cm, BC = 4 ¢cm and median CD = 3.5 cm. 5
s NS ABC & @ @it REd 4B = 6 ¥, BC = 4 ¥W U s

CD = 3.5 & |
OR / gt
For visually impaired learners only
(haw gfe forem feenfdai & fom)
Write the steps of construction to construct a A ABC in which 5

AB + BC + CA =12 cm, £ ABC =60° and £ ACB=45°.

AABC @ W & fou W@ & ue fafaw &™ad 4B + BC + CA =12 &9,

Z ABC =60° W§ £ ACB=45° |

31 P and Q are points on the sides CA and CB respectively of A ABC, right angled 5

at C. Prove that 402+ BP% = AB?+PQ?.
Tk AABC F@H £C=90°, @ qsnett CA 9 CB WX %us: fag P @enm QO
fom ¢ | fog @I 6 402+ BP2=AB2+PQ? |
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32 The rain water collected on the roof of a building of dimensions 44 m x 10 m, is 5

drained into a cylindrical vessel having base diameter 4 m and height 7 m. If the vessel

is full up to the brim, find the height of rain water on the roof.

(use T=—)

T% wae, frael Rmmd 44 @ x 10 @ ¥, B v WX bl gonr auf & U U
Y IETHR ol F o S ¥ e onui @ @ 4 W el swe
7. % |9 I8 IA49 RN W YA WX QO BA U g AW & T Bl IS
S I |

(r== B

33 Find the mean of the following data :

/= siiwst &1 Mo S| diNg

Classes Frequency
() (arare)

20 - 30 10

30 - 40 5

40 - 50 2

50 - 60 4

60 - 70 6

70 - 80 3

80 - 90 10
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34 Cards marked with numbers 5, 6, 7, 8, ........... , 45 are placed in a box and 5

mixed throughly. One card is drawn at random from the box. Find the probability that

the number on the drawn card is :

() a perfect cube

(i) atwo digit prime number.

Th S § 5,6 7,8, ... , 45 g0 oifthd wIE W T ¥ | IRl Bl qell Yh
HATET g0 o § UH B AGRAT M Sar ¥ | Wiiehdr s diteg TR et
T HE W

() ws b o den sifteq T |

(i) UH A ol I AT wEAT Sifhd ¥

35 Prove that the parallelogram an equal (or same) bases and between the same 7
parallels are equal in area.
g Y 6 g9 oMaR (I Th & SUR) o & §HX Y@iel & dh 9|
T agys de%d ¥ 99 B ¥

36 A person standing at a point P on the bank of a river observes that the angle of 7

elevation of the top (7) of a tree (BT) standing on the opposite bank is 60°. When
he moves 40 m away from the bank and reaches at the point (O, he finds the angle

of elevation to be 30°. Find the height (BT) of the tree and the width (BP) of the river
(Use \3=1.732)

U AR, S A % TH I WA P o weT }, T % gEe T R Raa
U U (BT) & By (7) @1 S=a9 &iv 60° Ul & | W9 98 e ¥ 40 =

0 & S ¢ SR fg O W w9 wan ¥, @ 9§ Us &% fiwen (1) 1 I
HOT 30° B WA ¥ | US @ 9 (BI) dUT T H AR (BP) WA #iwg |

(\3=1.732 @1 W@ &)
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